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Section 1 — Multipte Choice

Total:

Results

Sectlon I': Multiple Choice 15

Section 1T

Part A: Indices 11

Part B: Surds /12

Part C: Nor-Right Trigencmetry 116

Part D: Biveriate Dain /6

Part B: Quadratic Equations . 20
. /80

“Instrnctions for answering questions

Complete your answers using blue or black pen.
Select the alternative 4, B, C or D that best answers the question. Fill in the response oval

completely.

Sample: 2+4= (M2 ®)6 ()8 o9

A B & co - DO
If you think you have made a mistalke, pul a cross through the incorrect answer and fill n the
new answer. :

Ad B Co DO

Tf you change your mind and have crogsed out what you consider to be the cotrect answet, then
indicate the comrect answer by wriiting the word correct and-drawing an awow as follows.
corfect ’

Ay Pw$ - CO DO
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Section I: Multiple Choice (15 marks) .
Shede the correct answer on the sheet provided. - :
Allow 20 minutes for this section

1. ‘Which of the following expressions is NOT squal to 2> ?

A2 B. L C. o D. L
216 27 ’ 2
3. Which of the following is the correct simnplification of 27w 7
A, 9’ B. 3m*n’ . C. 3m's® . D. 9mn’
4, 312 can be fully simplified to which of the following expressions?
613
1 4 N
A —= B. C. —= D. X2
N Js NG 5
5, ‘Which of the following is the answer to S\E +\/5.6 +ﬁ§ ?
A, 1645 ~ B. 370 NG D. 3585

6. Which of the following equalities is NOT correct?

A. ‘.(«/?)2=7 B, (2@)’:12 o (Hsf=sB D \E%

7. Which expression below will correct!y calculate the value of x in the triangle?
A E -33
§in35 sin8l

B. x?=81* +33* -2 %81x33 xcos 55

/ 55° x B

sin81 sin5s

33 cm

D. tan55=—
33
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8. In AABC, AB=Tcm, BC=8omand £ACB =55°. Which of the following dmgra.ms
shows this informaticn?

y B. A4
7cm . ‘ 8 cm, 7 om
0!
55° 55
. B o
EB & ;
8 cm
C. D.
A ; C
R 550 A
559
7 am 8 om ) 7om
B B ¢

11, The scatterplot shows the relationship between the height and-mass of 9 peaple.

Which of the following is NOT correct from the graph?

5y
H
A, The y-intetcept is 55kg £} a
iﬂ! %
B. The height of an 78 kg person is 190mm =

C. The mass ofa 175mm person is 65kg

D. The taller a person is, the heavier they are

[T - e o ) S S SRN
W88 DG 1% 1B M5 e
: Huguhe ghy '

9. If 0% A<180° and cos §= —ij- , what are the possible values of &7

A. 30° B. 60° C. 120° D. 150°

b_\jbz—4ac

12.If o =1, b=-3 and ¢ =7, what is the correct value of 5 after
a
su‘bsmuﬂon?
34437 3437 3++/19 ENIT)
A, ——2——— B. - C. T D. —

10. The graph shows a scatterplot for a set of data.

Which of the following is the best way io describe

the correlation coefficient of this data? . .
A. Strong positive . .‘ -7 . : e *’ .
B. Weak positive ’ ' ' ) v ot -
c. Weak negative . . e i -
D. Strong negative

13. Consider the quadiatic equation gx® +bx +2 =0. If the value of * —4gc is 1ess than zero,
then the equation will have how many solutions?

A, Nene B. One €. Two D. Many

14, A quadratic equation was solved to find that the solutions were x =4 and x=-3.
What was the original equation?

A P ax-12=0 B. x'~x-12=0 C x*=x-1=0 D. 2x~1=0

15. What is the correct solution to the equation 9x% ~4=07

A 42 B 12 c 4 D, &
3 7 9 | -

nle




Section 1L Eﬁte;ldqd response section

Show all warking using clear and logical setting out.
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Part A: Indices Marlks
1. | Simplify the following, writing answers with positive indices
a) 3Jotxa x4’ = 1
by dm? - 8m = .
2
5 ;
o) (3x"4) = 2
-1
d) 2(8y + z) = 1
2. | Simoplify the following expressions, writing the answers in positive index form.
& ip= '
1
b) V16m' =
1

Kinceppal Rose Bay School
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c) x\/— = 1
1
' %
2
Part B: Suxds Marks
1. | Simplify
) W2x514= 2
2
b) 5v6-3v2(v243) =
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i (a .H/—f )2 =m+ ,6«/5 where a and m are integers, find tﬂe values of dand m. | 3- : . 1. ra} é tﬁaﬂgllle I;as Sildef Otfllen'gaﬂ; ltchm’ 15 em and 20 cm. Find the size of
. ‘ e smailest angle to the néarest degree. - ) 1
b) Determine the size of angle ABC to the nearest degree,
- . . 1
A

Rationalise the denominator
3

¥ 245 - o ‘ 2

19 cm

' R N ¢) Bvaluate x comect to 3 significant figurés,
142 o .

Y 5o ' ' S

15¢m




Kincoppal Rose Bay Schoo! - Kincoppal Rose Bay School
- Year 10 Stage 5.2 Mid Coursa Examination 201%

Year 10 Stage 5.3 Mld Course Examination 2017

) : ) 5. | Which of the following is the graph of y =cosx ? Cirele the correct letter. 1
d) A light plane leaves Syduey and flies 1280km on a bearing of 050°, It 7 ' . ‘A .
then turns and flies for 3215 km on a bearing of 149°, . . y
How far is the plane from Sydney, to the neares} km? : 15 ;
' ‘ 23 i

1
1be

NG

N a

F
) ¥
E‘P - 2y ’
2~ o . !
. o - - ' AN N
/ F X ; rid ay
- . ' -/ TU e . Sl | am
What is the exact value of cos45% —5in30° when written in simplsst form? PR : e: N ‘
o 2 . G
P
¥
c
A
1 . . . - 5 E3
Solve tan f= 5 to find @ to the nearest degroe, where 0 < 951807, : :
3 1 T
I!.. RIS
- ¥
D .

If sin [9=i, find the exact value of cos & .

N I _ ‘ ij

10
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Part D: Bivariate Data Marlzs
1. | The scatierplot shows the marks gained by 16 students in Year-10 on their English
and Maths exams. .
The line of kest fit is started for you below.
i Vear 10 Marks
e S e
o ! -
5 b . e
Hu . e m—— -
m l. ;._ .11_... TR [ : - -
» ; ] i
£ I ‘,,]‘_. - E_.. .: pe—
b : ; |
B oo { — e
§ 5 ; : et
a5 :
- -
2%
oo
.
F
Ll .
w5 - .
‘| :
p i :
[ ] X i M 0 =1 ] i) en i1
Faglsh
i .
a) Camplete this staternent: )
From the graph, the higher the English marksthe -, . the | - 1
Maths marks. -
by Make an estimate for the value of the y-intercept,
. 1 !
¢) . A siudent who scores 50 in English could expect what mark in Maths? 1
d) Explain what would heppen to & student’s English mark if they scered
20% in Maths? ’ ' g

11

g), Write & sentence which outlines a problem, or limitation, of this model. '
e
: ]
] i ]
{
f) From the model, your mark in Maths depends on your mark in English. '
Do you agree or disagree? Explain your answer. ‘ 1 .
\
Part E: Quadratic Equations Marks
1. Soive the following quadretic equations using the most appropriate methods
a) x*+2x-15=0 2
B BateTxs L -
12
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Use the quadratic formmila to solve A2 LAy -7 =0, ‘ _ 1 5. | Solve (xMS) (J:+1) = 2(x ——7] , giving your answer exact.
. - : . . | s
1
. , p
C
#
T
Solve m® —8m—3=0 using the methad of completing the square, giving the A i 6. | Inthe diagtam, ZABC isaright angle. }
answer in exact form, ) ‘3 _ A : g
x4+ |
x-1
: : B . .
) x ° [
‘ . ‘ L,
#) Dxplain why (x~|—1)‘2, =x+ fx—i)z
: . N ,
Ten times an infeger is added to seven times its square. If the resnlt is 152, what ' ‘ Lo ' 2
was the original m:mber? \ T3 : b) Solve ta find the velus of x. o oo :
e - - v ’ . !
_; ‘ END OF TEST ’ /

14
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7(-:""5—)3
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